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CHAPTER 1
BUILDING WITH BRICKS

Ques.1 Which is stronger?
ST H | HSTEd & |

(a) (b)

Ques.2 Make a beautiful jaali in the wall drawn below.

e 51 T2 AR B Uk gL STl S|




Ques.3 Make some jharokha patterns on the wall given below.

e <7 7T SIAR | IR S U S |

Ques.4 Take one brick and measure it.
Ueh $2 AT o 39 A |

(i)  What is the length of the brick?
T I ofaTE

(i)  What is the width of the brick?
ARG

(ili)  What is the height of the brick?
I

(iv)  How many brick will a boy need to put in a line to make a 1 meter
wall?
Teh HieY AR o o {oTU Ueh o7eeh ohl Tohail $2i ohl STTareer U< |




Ques.5 Draw a brick
Ueh 32 ST |

Ques.6
a) How many faces does a brick have?

Teh 92 % fohell T3 81t &7

b) What is the shape of the faces of the brick?
32 % TS i STHId S |

c) Draw the largest face of the brick.

Teh T £ o Fa ST |

b)




Ques.7 Make patterns with brick in circular shape.

AR H 221 9 U2 s |

Ques.8 Make pattern using the bricks diagonally.
221 ol TIh0T (3TMRR) | STIRIT e gU U araT |

Ques.9

Cost of the bricks State
(Per thousand) T
22 & T
Rs. 1800 Ahmedabad

Rs. 2100 Kolkata




(a) If a person wants to buy 500 bricks from Kolkata, what will be the cost
of those bricks?

g Uk SAfeRT FHICTRTAT & Woo T HATAT & o I fohet shiad et T |

(b) If a person wants to buy 2000 bricks from Ahmedabad, What will be the
cost of those brick?

1S U AT STEHIEE T R000d HIETAT & ot 39 Tehet shiTd Termt a2




ANSWERS
ST

Ans.1 (a) &

Ans.2 Students will draw jaali on the given wall.

Teramelt Sredt M |

Ans.3 Students will draw jharokha patterns on the given wall.

Tormelt eRian s |

Ans.4 Students will measure the dimensions. (Variations may occur)
Toremelt S st AT |

Ans.5 Students will draw bricks.
Teremelt 2 st |

Ans.6a) 6
b) Rectangle / 3aTd

c)

Ans.7 Students will make pattern.

foremeft et s |

Ans.8 Students will make pattern.

Taremet et &g |

Ans.9 (a) Rs. 1050
(b) Rs. 3600



CHAPTER 2

LONG AND SHORT
Ques.1 Which mango is shortest?
I T 3T BT ?
_2.5cm _1 4cm
A B

Ques.2 Which tree is longest?
I 91 U Fad T 27

12m




Ques.3 Which dots is nearest to D?

FAA g DFIEE ?
G
E
F
B
C
D A

Ques.4 Which figure is longer?
i< Tt SATHIT TS € ?

10cm 15cm

Ques.5 Which moon is longest in figure?
1= QT T=HT hl 3TTHIT St ¢ ?

v ¥V o

A B C D

Ques.6 Which is shorter: sun or star?
I | DI &, I A1 AR ?




Ques.7 Which bucket is longest of all?
T Sfeedl | 9 9 Seel 981 ¢ |

t__* @
15ma

Ques.8 Which kite is shortest?
I Gl T B E |

i

Ques.9 Which line is shorter AB or XY?
I Gl A BT € ?

5cm

X 8cm

Ques.10 Which is longer cup or glass?

I 91 I & Y 3T e ?




e

Cup/ Y Glass / Te1TH

Ques.11 Which Flag is longest of all?
[l Sl H i 7 SiST TS &

‘
| |

Ques.12 Which fruit is shortest?
I AT el Fol Te1 ¢ ?

W

Ques.13 Which flower is longer?
I AT Fol qad FSr € ?




A B

C D

Ques.14 Which pencil is longer?
i Gt Ufaet SISt g ?

A B C D E

Ques.15 Which triangle is longer in all of them.
HH AT T TeT 8 ?

RANARYAN




CHAPTER 3
A TRIP TO BHOPAL

Ques.1 Fill in the blanks:-

TRt T |
1.1000 = 10 ==
2.713 X 5 == 5 X
3.76009 == kg + g.
4.4 L == ml
5.0.7km== km m

Ques.2 Change to 12 hours clock time using am or pm.
Am LT Pm 3T T I gU 2R S aTelt el § 5o |

1. 1238 hours / &< 2. 0520 hours / &<
3. 1201 hours / 8 4. 0045 hours / 8¢
5. 1200 hours / ©<

Ques.3 Find:-
& I |
1. 100+20-5%x2+60+2
2. 15x5-12x6+4
3. 19x5-18x12+5
4, 48+72+9x3-5x7+4



Ques.4 Divide the greatest no. of four digits by 95.
% J7ehl ! Had TE] YA Hl Q4 T 9T 7 |

Ques.5 8m cloth cost Rs. 176. What will be 5 meter cloth cost?
8 HIeY TS I T Q9& TIT ¢ Al TIATST Y T hUS ki ShiTd =T eidl ?

Ques.6 A car run Rs 25 km on 15 L of petrol. How many km. can it run on
10 L of petrol? ‘ ’
T R QY TR YA T Y, TheAiHIe Tetdl & Lo Tiie U2iel | a8 R

o o [ a
Toha ThelTHIE Tt ?

Ques.7 The rent of a house for a year is Rs. 2400 find the rent for 3 months?
Teh R T Ueh WTeA Sl TR ¥ 00%Td & A 371 T HelH o [ feha

2 2

Ques.8 How many 10 rupees notes ravi can get for Rs. 41607

¥2&0 H T &l 20 TIT & o A1 oAt ?




Ques.9 Richa bought bread for Rs. 5.75, butter for Rs. 4.50 and biscuit for
Rs. 4.75. How much money did she spend?

R = w9y TIF 31T, ¥.4o T TRGH T ¥.\9Y I foehe BRITT | 39
et Tohe o0 T Ty ?

Ques.10 Write the time that.
U A3 |
(i) 10 min. earlier then 9:30.
R:30 ¥ 0 fiFe TReH |

(i) 10 min. later than 4:45.
¥:¥4 T 2o e 91 |

(ili) Y h. earlier than 10:45.
R01% Y T STHT Tl Ueet |

Ques.11 A ration dealer distributed 945 liter kerosene equally to 27
persons. How much oil did each person get? '
Teh TP SIol R ¥ T THES! T T [\ AT hl sTeR StedT 8] Ui

3TTEH] Rl {heT oot et 2




Ques.12 There are 144 ball pens in a carton. How many ball pens are there
in 85 cartons?

T ¢ Siss H Q%Y o7 U &1 df ¢4y, IS Tesal H fohea= U 2 2

Ques.13 Convert the time in 12 hours:

2R T ol Tel H U Fqre |

(i) 2315 hours
3y EE

(i) 1709 hours
0% T

Ques.14 A gas cylinder contains 14 3 kg of gas 9 3 is used. How much of
5 5
Gas is left in the cylinder?

Teh T foleTet H 2% 3/4 fohetony 719 ¢ IS 399 | R 3/, fohalium™ v
&l T2 o Taferex § fora 719 arent =t 2

Ques.15 The population of a town is 96,954. How much is less than one
lakh?

TS I ol Fol STHUEAT ]&,]UY & Al TE Teh oG ¥ fehe1 7 & ?




ANSWERS
AT

Ans.1
100

713

7 kg 600 g / \o Tohedt &oo 7T
4000 ml / ¥ooo T

0 kg 700 m / o fehHt \oo Tt

ARSI

Ans.2

12.3p.m
520 A.m
12.01 P.m
12.45A.m
12.00 Noon

Ok whE

Ans.3

0
-5
41
41

e

Ans.4 105 Remainder- 24 / 204 3% -3%
Ans.5 Rs. 110 / %0 93

Ans.6 150 km / 2uo feret

Ans.7 Rs. 600 / &oo Ta&

Ans.8 416

Ans.9 Rs. 15/ 24 &0



Ans.10
1. 9:20
2. 4:55
3. 10:15

Ans.11 35 liter / 34 T

Ans.12 12,240 ball pens / 2R, R¥o TTeT U

Ans.13
1. 11:15 pm
2. 5:09 pm

Ans.14 53
5

Ans.15 3046



CHAPTER 4

TICK-TICK-TICK

Ques.1 Match the following:-

ST fHeaT:
3 hours a) 2 days
ERCA R
48 hours b) 180 minutes
¥ HE 3¢o e
1/3 hour C) 4 hour
/3 gar ¥ HE
240 minutes d) 20 minutes
¥o e R0 e
Ques.2 Fill in the blanks:-
Tt T W)
12 hour clock 24 hour clock
¢R = FTel TSt R¥ = ATel "Er
1) 8:00 pm
i) 09:30 hours
1) 03:20 am
\Y)) 21:40 hours

Ques.3 Complete the following:-

7 =l 1 HITT |

Time
SR
8 am

8 hours later
¢ BT



i) 4 pm

i) 9 am

Ques.4 write the time in figures:-
U <t 3! H forat :-

1. 7 minutes to 10

20 T T T fae

2. Quarter past 10

RELEE

3. 28 minutes past 4

IR ST ¢ e

4. 20 minutesto 7

e 554 H R0 e

Ques.5 make a clock and show the time:-

TSl IR GHY TR |

1. 10 minutes to 8.
¢ I H o0 e

2. 25 minutes past 12.
3R TSR Y TS

Ques.6 match the following:-

SIS THee:-

) 2 years 7 months
R e © TR

i 48 months

¥¢ TEH

b)

4 years

¥ T

5 weeks
Y HTE



i) 4 weeks C) 31 months

¥ e 3 TEH
Iv)  35days d)  28days
3y A

Ques.7 The annual examination in a school started on 1% march 2012 and
ended on 22™ march 2012. How long did the examination continue?

T To=rerd | aiees TRieT £ HIE R02R ol T[E g8 3R IR AE 0% H
T e | aieres aXreT foha o ek =t 2

Ques.8 If 6™ march 2012 is Tuesday
g &HT 0% T TR & of
1. What day is 13" march 2012
%3 TS R02R i T {5 eI
2. What day is 23" march 2012
R3 T R02R T T f5F B

Ques.9 Write the names of the months which begin their names with the
lette “J’ .

‘" | Y% i aTel HelHT o A1 o |

1. 2. 3.

Ques.10 Write the names of the months having 30 days.
37 e o 7 forat i 30 R e € |

1. 2.
3. 4,

Ques.11 Which month it will be 240 days after 10/01/2012?
20/03/R02R & R¥o T I1% I |1 HEHT & ?

Ques.12 A hockey match ended at 03:20 pm. If the match lasted for 2 hours



30 minutes. When did it start? .
BTeh! T H 31300 TH R & g3 | Afg H R 1 30 A <eT af 5el o
B &1 w9y fora |

Ques.13 It takes Rohan 45 minutes to reach the school. If he reaches school
at 08.10 am. What time did he set ouj[?
e SRl [oaiTeTd Ue= 5 ¥4, 592 oIfTd & 1S o8 fo=erd ¢:20 3198 W

g € ol 9 fehe St TR =T g ?

Ques.14 Write the time in words:-
U <t 9131 | fora:-

1. 08:15
2. 09:40
3. 07:45
4. 11:10

Ques.15 Add:-
Stret

1. 36 minutes to 48 minutes

3% e 31X ¥¢ foe

2. 1 hour 15 minutes and 2 hour 50 minutes

R ET 4 T 3R R & Yo e




ANSWERS

Ans.1
(i) b)
(i) a)
(i) d)
(iv) ¢

Ans.2
(i)  20:00 hours / Ro:00 &
(i)  09:30 am/ oR:30 &
(iii) 03:20 hours / 03:30 &2
(iv) 09:40pm/ oR:¥o pm

Ans.3
(i) 4.00pm/ ¥ &
(i) 12 midnight / 23 T=RI
(iii) 5.00 pm/ Y &St

Ans.4
(i) 9553
(i) 10:15
(i) 4:28
(iv) 6:40

Ans.5 Self doing. / ST T4 W 4

Ans.6
(i) o
(i) a)
(iii) d)
(iv) b)

Ans.7 22 days / R &1



Ans.8
(i)  Tuesday / HTeTaR

(i)  Friday / IpFaR

Ans.9 January, June, July.
SR, S, SToTTS

Ans.10 April, June, September, November.
31U, S, TaawR, TR

Ans.11 September / Tqam=R

Ans.12 12.50 pm
Ans.13 07.25 am

Ans.14

(i)  Quarter past eight.
AT HAlS

(i)  Forty minutes past nine.
=t ST et e

(iii)  Quarter to eight.
T 373

(iv) Ten minutes past eleven.
TIRE FToh 39 TS

Ques.15
(i)  One hour 24 minutes.
% HeT R¥ e
(i) Four hours 05 minutes.

IR " oy e



CHAPTER-5™

Ques.1 Name the view of the followoing:-
Terst Sl 3@ TG G¥al oh SISy | | |

L

A B C.

Ques.2 Draw lines to match the side view and the top view of a pipe and a funnel.

Ferst & 3T ST S “Uek 3R g9 T ‘SR % g¥ o quIET |

L

Ques.3 Draw picture of a shoe from the top.

IR ¥ 3G §U S M T TET




Ques.4 Draw a picture of a shoe from the side.

“Teh TRE’ ¥ S §U ST ol 1o ST |

Ques.5 Draw a picture of a shoe from the front.

T Sl TRE” W I gU S M T A1 |

Ques.6 Match the correct view.
e g9 i et |

1. Front
e

2. Top

3. Side



Ques. Look at the picture carefully and answer the questions
T 9 SR SRS |

—
| S—
flower gate D
hook hed sonu's
shop house
[] gafe A park
gate C []
sweet
shop basket bench
ball cort | | gate B
1
—

Ques.7 Which gate is nearest to the sweet shop?
I T 712 ST Tl THM & T8I &7

A,B,C,D.

Ques.8 Which gate is nearest to Gappu’s house?

I T 7 T 6 =R o T I &7

A,B,C,D.

Ques.9 If you enter from gate ‘B’ the correct vyill be to your.
Ife qH TET B ¥ o7 S @ A o9 R H9 O a?
1. Leftard 2. Rightﬂﬁ 3. Front. 9=




Ques.10 When suhasini entered the park, the flower bed was to her right. Which
gate did she enter from?

STe eIt UTeh H STt € A Tott 31 (o 3ok Jrdl a¥E ¢ | 98 fohe e |
3feT T t?

Ques.11 Which of these is nearest to you if you enter from gate ‘D’?

Fig g9 Tie D ¥ ureh § S &1 df 3778 9 9 TR ey ASTare am?

1. Basket Ball Court.
STEhe STct e

2. Flower Bed.

ol ST T

2.. Bench

EE)

Ques.12 If you entered through gate D, What will be on right of you?
g T e D § 31X ST &1 f UTeh § R ST a 1 §hm?

Ques.13 If you enter through gate ‘A’ , what will be on left of you?

g qH e A § 3T T &l A JreRT Sl Xk 1 gim?

Ques.14 If you exit from gate ‘B’ and take a right turn and go straight. Then which shop
is at your right?

Iz g7 e B T 9Re Mehetd g aor It ok Yo | = &, af Jerl
31T TR I Al g BM?

Ques.15 When you exit from gate ‘A’ which shop is in front of you?

TS qH TR ¥ 1 A H TR eher 8 af G | i dF b gi?




10.

11.

12.

13.

14.

15.

® -

Top. I
b. Side. W%
Top. U

o

ANSWER KEY

a. C.
b. A
c. B

Gate A

T A

Gate C

12 C

Left.

EIpi]

Gate D.

TeD

Flower bed.
ol ST e
Trees.

U

Flower bed.
ol ST T
Sweet shop.
fi7are ht g
Book Shop

fepetTalt st geRT

1




CHAPTER®G

THE JUNK SELLER
Ques.1 Find out:-
Tt S
a) A quarter of Rs. 500 = Rs.
Loo TU HT TTATI .
b) Half of Rs. 1500 = Rs.
400 SHT ST, :
c) Double of Rs. = Rs.500
T T AT = Yoo TG
d) 9xRs. 4.50 = Rs.
RX ¥.40 =, :
e) 6 XxRs. 50+ 4 Rs. 100 = Rs.
& X 4o BT + ¥ X 00 TUY =,
Ques.2 Solve these:-
A A
a) 750G + G =2 Kag.
o T + o1 = R ferm
b) 100 G =10Kag.
200 Ylo X ‘J,T[o:ZomTo‘
c) 450 G+500G = Kag.
¥ 4o Yo + Yoo Yo = TTo ‘
d) 700G + Kg + 300 G ==5 Kg.
\9o0 Yro + ?m"l;lTo-i-‘\ioo‘l;no:L\]Qq,"l;n‘
e) 2x500G +4 Kg =13 Kg.
R X Loo Yo + ¥ X Wo=23mo|

Ques.3 Ramu earns Rs. 90 in a day, how much he will earn
T U 57 7 R0 TUA FHHAT €, I8 Toha TU HATT |




a) In5 days ==Rs.

PRk
b) In 10 days == Rs.
R0 Te A |
¢) Ina April month ==Rs.
T HeH | (3T0eT)
Ques.4 Look up the rate list and find out the Rate — list
cost of the junk? Kind of junk price per Kg
o o (2} r)
T Gier i SEHY, T FHaTe =l A ol i L Iron Rs. 12/-
a) Cost of 38 Kg newspaper : 2. Newspaper Rs. 6/-
3¢ ThUlTo 3TEAR
3. Waste paperRs. 5/-
b) Cost of 28 Kg plastic : 4. Brass Rs. 200/-

3¢ TopuTo wiiesh

5. Plastic Rs. 10/-

c) Cost of 16 Kg iron ; 6. Alumi Rs. 90/
o mo gﬁg‘[ . uminum S. -

d) Cost of 3 Kg brass
3 fopmmo dierer

e) Cost of 4.5 Kg aluminum
.4 foRtlTo 3o 1aH

f) Whose cost will be greater- 3 Kg aluminum or 2 Kg of brass?
T eh! ShIF SITST &I - 3 TehaiTo 3Teqfaw &t R Tehummo diae ?

g) Whose cost will be lesser- 4 Kg iron or 8Kg waste paper?
fergen! T W BN T % ToRtimo &feT &t ¢ Tohtmo &l whmrsy ?

Ques.5 How many times can you.

TohaT SR 3T T



a) Subtract 12 from 108
Ro¢ H ¥ 83 I TeT
b) Add 18 to make 216
8¢ T AN 28 T o (10
c) Multiply 9 to make 729
R T TUM W% T & foTg
d) Subtract 14 from 196
RR& | ¥ ¥ I T

Ques.6 Solve the following:-

=T =t &t -

a) If 28 + 72 =100, then 720 + 280
T ¢ + 193 = Qo0 AT WRo + R¢o =
b) 6000 + 60 + 6 =
§ooo + Go + § =
c) 55x55 = 55x + 55 x 10.
i X 4l = 4y X Uy X R
d) 3x350 = 700 +
3 X 3Yo =\goo X

e) 1week X7 = days.
L A X o = &
Ques.7

a) 15 time 30 is 450, then 15 time 35 :
WU IAT 30 =¥Yo EaAT U TATIN=__

b) 10 time 20 is 200, then 10 time 28 :
QIATR0 =00 T AT TAMRC=__

Ques.8 Binu gives 5 time 50 rupee note to tinu. How much money he gave
to tinu?

S A I 1 T AR Yo T % 12 fT | 36 2 i et Teha TRt T ?




Ques.9 Reena wants to arrange her 5 rupee note, 2 ten rupee note 20 rupee
note, 50 rupee note, 100 rupee note, 500 rupee note, help her to

T 3T TS Y U T A1, T R0 TYF & A1 R R0 YT I AL, Th Yo T
T T, Teh 200 TUF T A SR Teh Loo U o I e hiT Tl &
3! AET it |

a) Arrange in ascending order.
& A o [oT0:-

b) Arrange in descending order.
T ShH o foTd: -

c) Find the note placed at 5" position starting from 5 rupee
note :
IS W T I[S (Rl ST off UTerell ST UR i< T A1 ST |

Ques.10 See the table and give your answers:-
g T TEH ST [T~

I. Who paid lesser amount?

Toha W YT 37T &0t ?
I1. Who paid greater amount and how much? Name Loan loan
TohemT 31fereh T o7aT ot ? taken paid in 6 months

I11. What will be their monthly installments?

ST ot AT 118 feoRed feaT gt ? Debu Rs. 1800/~  Rs. 1830/-

Kali Rs. 1800/- Rs. 2100/-




ANSWERS

Ans.1
a) Rs. 125
b) Rs. 750
c) Rs. 250
d) Rs. 40.50
e) Rs. 700

Ans.2
a) 1250 G
b) 100 G
c) 950G
d) 4Kg
e) 3Kg

Ans.3
a) Rs.450
b) Rs.900
¢) Rs. 2700

Ans.4
a) Rs. 228
b) Rs. 280
c) Rs. 192
d) Rs. 600
e) Rs. 405
f) Brass
g) Iron

Ans.5
a) 9
b) 12
c) 3
d) 14

Ans.6
a) 1000



b) 6066
c) 45
d) 350
e) 49

Ans.7
a) 525
b) 280

Ans.8 Rs. 250

Ans.9
a) 5,10,10, 20, 50, 100, 500.
b) 500, 100, 50, 20, 10, 10, 5.
¢) 100

Ans.10
a) Debu
b) Kali—Rs. 300.
c) Debu - Rs.305.
d) Kali - Rs. 350.



CHAPTER 7
JUGS AND MUGS

Ques.1 Karan got an empty 500 ml cold drink bottle. Look at the picture and
discuss what he did to fill the water up to mark of a bog conical flask.
0T & U Teh Yoo et St Ied ol sider & A {58 T Tert =l <t 31
AT ST TH TSR ohi ST TR o TR TR o ot 39 fehc=it Siicfet 91eid st

SELT g |

2 liter

500 ml.

Ques.2 A big bottle contains 1 liter oil. A little bottle having capacity of
200ml. How many number of little bottle can be filled by this

big bottle?

T DSl didel H 00 THedlo 567 W ST Hehell & | 1 &l i Ueh diael 91

& ToTu Ul forat SIS! didal st SATeredehar gl ?

200 ml + + + + + =1 liter




Ques.3 Look at this pictures. Now write the name of things with capacity
that can be filled in these bottles.

T 5 T et B <RI € aqe & AW forat o 3 R ST i /T 6
STTH 3T |

hhh

Name of things Capacity of bottle




Ques.4 Fill the table accordingly.

Object For 2 liters (How many | For 3 liters (How
I times) many time)
TeherT R (R Fto 6 TRt ARY (3 Tfto
ferm) ferm)

87 Mug (200 ml)
T (Roo fHeilo)

ﬂ Glass (250 ml)
T ([0 fiFeto)

Pot (500 ml)
e (oo Feilo)

@ Bucket (1 liter)
e (2 )

Ques.5 Calculate and fill in the blanks.

TTOTT R TR SRT

e.g..- 5*200 ml =1 liter
3TRIT:- & X 00 AT = ¢ FieR

a) 10*200 ml =
o X Roo ﬁiwﬁo =
b) _ ml*20 =2 liter.



X R0 = Y TleX

c) 550 ml + ml =1 liter.
(‘\L\oﬁ?rlf)[o-l-—ﬁﬁﬁo:QFﬁZ'{

d) 1 liter - ml =250 ml.
% T - fHeito = Yo fifetlo

e) 5liter 500 ml /5= liter + ml.
Y T Yoo THetio + 4 = o + fereto |

Ques.6 Ram goes to his nani’s home by car for which one liter petrol is
required for one kilometer. If nani’s home is at 10 Km. How much

petrol needed?
T 3T AT 3 TR R & STIET a8 & SHeh! el Wwho et Ugier | ¢ Tl

FeAd! € | 3R IHeh! AT T TR Qo Tt X & ot 3 Tohe U2ier ot
3TETRT BT ?

Ques.7 For making a glass of coffee, sonu uses 20 ml milk. He wants to

make 50 cup of coffee. How much milk did he required?
TS Y HIh! A & [oT¢ G 0 THEAT 8 1 U= il € Teh U1t o fole

o Y ! A o o0 3§ Tohe 34 ol STTavaeharl asTr ?

Ques.8 How many cups of coffee be made by 1 % liter milk?
2T TiIeX 39 U fohc T SIw! IS ST Fehell € 7

Ques.9 If he made 100 cup coffee then find how much milk he needed?

T {00 Y HIth! SHM! 81 df I Tohel1 39 =TeT ?

Ques.10 Doctor suggested a patient to take eye drop with 25 ml medicine for
5 days. How much medicine will be use by the patients? ‘
T S = T ohl Y et gar u T5=1 o feu 51 | samstt uep g9 o 9 4

fepert gl o ?




ANSWERS

Ans.1 Four times.
¥ IR

Ans.2 4 bottles, 200 ml.

¥ §R, Y00 fHeito
Ans.3
(i) Eyedrop, 15 ml
2y, fhedto
(i)  Ned, 100 ml.
Ro THeto
(iii)  Milk, 1 liter.
?
(iv) Cold- drink, 1 % liter.
1%
Ans.4

(i) 10 times, 15 times.

R0 9T, ™ SR
(i) 8, 12.
4 R
(i) 4, 6
¥ &
(iv) 2, 3
R 3
Ans.5
(i) 2 liter
R T
(i) 100
200

(i) 450



%40

(iv) 750
IR
(v) 1, 100
g, oo
Ans.6 7 Y liter
© YR AR
Ans.7 1 liter
R TR
Ans.8 75 cup
W4 Y
Ans.9 2 liter
R Tl
Ans.10 5 ml.

u, fietto



CHAPTER 8
CARTS & WHEELS

Ques.1 Which will swept a bigger circle - a door or a small window?
Th T gRT ST Tl I - Ueh SalTst g1 AT Bl ggeht gRT ?

Ques.2 To make the top spin well, where will you make the hole?

Ques.3 Give the answers of following: -

I ST

a) Length of BC = Cm.
BCHI TEE=_____ 9dr|

b) Length of FG = Cm.
FGwiemre=__ 9|

c) Length of EG = Cm.
EGoiemars=__ 4l

d) Length of AD = Cm.
AD®iTmrE=__ G|

If all the inner circles have equal radius = 6 cm.

IR Gt 3L o TieA ot oo = & A1 7 |

Ques.4 If OC =5 Cm and separation between the circles is equal =7 Cm,
find:-
g 37 G = W YEY 3T Tl et TH R T 3T6HT ST6RT & o AT hifsTy |

a) Length of CD = Cm.



CDHieaE=___ AT |

b) Length of BE = Cm.
BEwmiemrs=__ ¥
c) Length of BO = Cm.
BO=miemars=___ &
d) Length of AF = Cm. m
AF ) o = | —&—
e) Length of AE = Cm. U
AE®temamg=__ 44|

Ques.5 Write four things which can be used to trace circle?
TG IR =S STy A e () ST ST e |

Ques.6 If two goats are tied to a pole in a ground. Which goat will trace
bigger circle if the length of rope of second goat is greater?

e 1 THRAT ol Ueh T T sty I S0 df fohg sIshdt §RT 12T el s |
I TR TR TS SR A T T |

Ques.7 Solve these:-

TA I |
a) 4x2Cm= Cm.
¥ X R gHr = 94T |
b) 8x7.5Cm= Cm.
¢ X 9.4 Tat |

Ques.8 Solve these:-
T hITSTq: -
1. radius = 4cm, diameter =

oo = ¥ 9, = =



2. radius = 6¢cm, diameter =

orear = s, = =

Ques.9 look at the picture and answer the following:-
FersT ot ST ST AT |

1. The centre of the small circle
SIS T I D5
2. The name of a smaller radius and its length

ST Tiet i 99T =T 919 oaqreT | ﬁ?wﬁmréﬂﬁ\
3. The length of a large radius
IS TNl ot 1541 ohl oTaITE oIqTe |
4. which is bigger:-
FTTSTE |
a. OA
b. OB




ANSWERS

Ans.1 A door.
YAt BT |

Ans.2 At center.
AnNs.3

a) 12 Cm.
R
b) 12 Cm.

c) 18 Cm.

d) 24 Cm.
Ans.4

a) 10 Cm.

b) 24 Cm.

c) 12Cm.

d) 38 Cm.

e) 31Cm
Ans.5 Bangle, coin, glass, plate.
Ans.6 Second goat.

Ans.7
a) 8Cm.

b) 60.0 Cm.



Ans 8
a) 8cm
b) 12 cm
Ans 9
a)0
b)OA and 4 cm
c)5cm
d) <



CHAPTER9
HALFS & QUARTERS

Ques.1 Colour the ¥ of following picture.
/% AT H TT 9 |

T T T
TG A

Ques.2 Draw a line to show Y.
/R 9T fe@@m & foru Y wife:-

Ques.3 Which of the following figure shows four equal parts.

frrfeTiad o § shi9 |1 TR s)1EK 9ET bl ST ¥ |




.

A B

Ques.4 Match the following figures:
e &

(A) 3/4
B) 1/4
C) 1/2
D) 414

Ques.5 Shade the %2 of the given figure.
feu e fasr o @/ 9T | I oy |

= &

& e




Ques.6) 250 g+ 2509 + 150 g + = 1000 g.
Ruo UMH + 1o P + 4o UH + = RoooUH

Ques.7 The collection is divided into 4 equal parts. Encircled portion
represents.

FETAREd 99 IR SeR 9§ faeiieid € fafesd 9m < 3o |

O © 0 O
o 0 0 g

A) 1 B) 3 C) 1
3 4 2
Ques.8 Fill in the blanks:-
e T 1 |
a) 1kg= g.
g fertmo = um
b) 1m= cm.
RHR=___ UM
c) 1liter = ml.
gefter=___  foefo

Ques.9 There are 20 blocks. %, are green. How many are not green?

R0 fesai 7/ 3/% & fe=u ¥ [foham fTesw X @ € 2

Ques.10 Three fourth of the match was over when | switched on TV. What
part of the match is left?



STal H Soaifo TR AF 3/% e WeH &l IRl 2T | Wl ol fohaeT ST1T ¥E T
o7 ?

Ques.11 From 12 boys in a school, % went for swimming. How many
children are left in the class? .
%R BT Sl HelT H /I B Xkl & [T T T | Tohe BT Hell H 91N @
T ?

Ques.12 Complete the diagram...
T T R |

Ques.13 One can hold 500 ml of water. How many cans can be required to
hold 2 liter of water. o
T ST H Yoo THEA U 3T & | R ol Ul UHT foheT anfeedt | 3a 2

Ques.14 Balance the weight with the help of following.
Frteiad & Terar @ asTH ot SReR & |

AA




Ques.15 Complete the following:-

FATeIRad I &t o)
a) 250 ml + 250 ml + =1 liter.
uo et o et +__ =2 wreX |
b) 500 ml + + =1 liter.
500 + + = T |
c) 250 ml + 250 ml + + 250 ml =1 liter.

uo fHeft +uo et +_ QU0 el = ¢ 7T |



ANSWERS
Ans.1 Students will do themselves.
B @ HA |
Ans.2 Do your self.
BH @ H |
Ans.3 Figure C
CER]
Ans.4 A-C, B-A, C-D,
R@RENIE@ ¥ (@
Ans.5 Do your self.
BE W F |
Ans.6 350 g.
4o U
ANs.7 Y4 (A).
/¥ (37)
Ans.8 1000, 100, 1000.
000, %00, %000
Ans.9 ¥ are not green.
/¥ 9T
Ans.10 ¥
V¥
Ans.11 %, 6 boys.
/R, & ISh
Ans.12 Do your self.
B @ H |
Ans.13 4 cans
¥ T2l
Ans.14 2 kg + 1 kg.
R ?m'_l;ﬁo, +? %Fl;ﬁo
Ans.15
a) 500 ml.
Koo ﬁ:[Gﬁo
b) 250 ml, 250ml.
4o figetio uo fHedto
c) 250 ml.
d) R\ o Tetlo




CHAPTER 10
PLAY WITH PATTERNS

> Look these balloons.
T RT3 |

-

The sum of these balloons is 9.

FATERI HATRE |

1)  Now fill these shapes such a way that there sum is given a below:-

T STIITAT Tl TH YR T Toh ST 1T HHHER 3T |

v.v.9

-0 -0 O -
ANREVANEVANS

. §
- O
WA



> Look the following pattern.
T o6 <l ST |

5)

6) TRIO 2

7) KVM 2




> Now make some secret words
33T FB FHe I oA |

Word Secret Word
T P K
8) PLAY
9) DOLL
TOY

10)Look the following patterns. All the figures are in a pattern. Fill
the last one.

11)

» @ @ B

12)

Q @)







Ans.1) Many answers
l.e. 2+5+12

Ans.2) Many answers
Le. 8+6+1

Ans.3) Many answers
le. 5+3+2

Ans.4) Many answers
4+6+5+1

Ans.5) Bat
Ans.6) Girl
Ans.7) pen
Ans.8) KOZB
Ans.9) WLOO
Ans.10) GLB

Ans.11)

Ans.12)
Ans.13) @

ANSWERS




AAAAAAA




CHAPTER 11
TABLES AND SHARES

Ques.15x5x =75

WX 4X =4
Ques.270~ 5=
Qo — 4= .

Ques.3 8 legs mean 2 cats.
12 legs mean ___ cats.

¢ 2 A R fafeern

RIMAM___ fafoom=r |

Ques.4

IAARREEEE
IAARREARE

There are rows with plants.

TRt Gferat qe T E |

Ques.5
7,14, 21, , 35.
9, %, X%, N
Ques.6 Half dozen of pencil = pencil.
M UfIA =__ uf=ged |
Ques.7 Three times of 40 =

xo?ﬂﬁ(ﬁTITZ .



Ques.8
AAA AAA AA A
AAD AAD AAD
Total number of triangles = .
STt bl ot AT = .
Ques.9 How many months are the(e in 3 years
3 el | TR TR Bld ¢ |
Ques.10 solve 108 -~ = 0.
TART 0¢ +_ =R
Ques.115x5x4x0=___
UXUX¥Xo=
Ques.12 12,24, .48, |72
R, R, , ¥, , 9%
Ques.13 2 hours 30 minutes = minutes.
REE 30 AT = e |
Ques.14  Weight of 1 brick is 2kg. What is the weight of 350 brick.
% 32 1 9K R foRedl & T 340 2T 3T R 31 81T |
Ques.15 3 meter 20cm = cm.

3 TiieX Ro el = _ o |



Ans.1

Ans.2

Ans.3

Ans.4

Ans.5

Ans.6

Ans.7

Ans.8

Ans.9

Ans.10

Ans.11

Ans.12

Ans.13

Ans.14

Ans.15

3

3

14
¥

3

3
2,18
R,C
28
RC

6 pencils
6
120

{Ro

18

¢

36

3%

12

R

0

(o]

36, 60
3%, &o
150

4o

700 kg
\9oo TeHUT
320 cm
3R0 Tt

ANSWERS




CHAPTER 12
HOW HEAVY? HOW LIGHT?

Ques.1 The weight of each shape is given below. Find the total weight of given
combination. One is done for you.

I &% TIHTAT T ISt 14T T € | et Werardl ¥ U 71 WasHi <l et

A O v¢

19 29 39 49 59

€.J.
+ Q == 49 + 39 ==T7g.

O-3¢ - A=A -




Ques.2 If weight of a square is same as the weight of two circles. Weight of a
triangle is same as the weight of the circle.Balance the following scales.

TS g 1 I &1 gl & SXER & TAT Teh 33T 1 3 U T o S §
TSU 7T RIS & ST UeTel ol U 1 |

O O

How many circles do you need to
A balance the pan?
TRIS] ! U i o ToTU fohaH

T e |

How many triangles do you need to
balance the pan?

TRTS] i Tferd e o ToTg fohe

1Tl Y ST & |




Ques.3  Let us complete the bubbles

AT ol T |

B.)

Ques.4  Which pan of the balance will go down? Show by drawing an arrow. One is
done for you.

I 9T Ietel Jre e ?

(

Ex.

v

259 359 \I"
4049 409

V

5 kg 4 kg 7 kg 7.5 kg
900 kg 400 g



Ques.5 Colour the leaf that show the value of underlined weight in the trunk of the

Ques.6 Complete the tower as shown in the example.

A)

tree.

3G I H 07 91 TG 51 o7 | 15T 70 o519 & e ¢ |

13 kg +5 kg

- 12 kg + 3.5 kg
10 kg +500 g

e St T2 HHR g R | S o 3IReT B e men e |

2 kg

900 g

1.1kg

600 g

300 g

800 g

4 kg

700 g

6 kg

B.)

9 kg

2 kg

4 kg




Ques.7 Arrange the yveight in ascending order.
U T4 ST &l I&d %hH | ¢9IT |

1. 750g, 7kg, 8509, 6kg

o T, \9 fohedl, c4o UTH, & Tohed |
2. 25g, 25kg, 2.5g, 2.5kg

4 U, WY That, .4 T, 2.4 fe |

Ques.8 Look at the weight of these balls.

<t T2 Tie] Sl T i 3G |

The red ball =100 g.
ATA T1g = Qo0 UTH

The blue ball =1 kg
et 718 = £ feretom

Now, write the weight of the given objects by adding the weight of the balls on the scale.
The first one is done for you.

314, 3 TS ST T TS ol UeTe W @ & & ST i STEH |

d ¢

*

100 g + 100 g + 100 g = 300 g.

@ N~ 4 @ ) o




Ques.9 Choose the right unit.

TE IS L |

Litre, Kilogram, Meter, Kilometer
ey, fepoTiume, Hiel, fhorHiex

V)

milk

tonned

Ques.10 Paste 5 pictures each of the things j[hat we buy in kilogram find in grams
3 U™ U = o e st [ & fehetomy oo o § wlied ¢ |




ANSWERS

Ans.1
a) 169
R&UH
b) 15¢g
UWIATH

Ans.2

mo ¢ o

a) 700
\9oo
b) 360
3%o

Ans.4

a) Pan 1 will go down.
qeTel & I ST |
b) Pan 2 will go down
qoTel R e S |
Ans.5

14.5 kg
A) +500 g
900g
B) +100 g

Ans.6




A)

B)

Ans.7

11.4 kg
4.7 kg 6.7 kg
4 kg 700 g 6 kg
17 kg
11 kg 6 kg
9 kg 2 kg 4 kg

a) 6Kkg, 7kg, 750 g, 850 g.

& foretiumd, o ToRetium, Who U, ¢4o U |
b) 2.5¢g, 25 g, 2.5 kg, 25 kg.
.4 MM, Y UMW, .4 fhenum, Yy, fhetmT |

Ans.8

a) 1kg+100g+100g=1kg200g.
¢ Tohel + o0 TTH, Qo0 UTH ,= ¢ Tohedl 00 UTH |

b) 1kg+1kg+100g=2kg 100 g.

Q Toredt + & fohedl + Qoo UTH, = 3feheAt Qoo UTH |




Ans.9

a) Liter
giced

b) Kilograms
Toetrum |

¢) Kilometer
Caciticed

d) Meters
Hrex |

e) Liter

e |

Ans.10 Do it your sglf.
B TG HI |



CHAPTER 13
FIELDS AND FENCES

Ques.1 Find the total length of the irregular figure?
3t TS ST Tl et TS AT A |

2 cm

T

2cm

Ques.2 Find the total length of the irregular figure?
3t TS ST Tl et TS AT A |

>l
<,
&/

/}‘r,

wid |

5 cm
Cﬁ

1 ecm



Ques.3 In which of the following situations, the boundary is involved:-

3t TTE 3THIT St et TS T L |

a) Carpeting of room.
(2
AL T SHIAM |

b) Fencing of plot.

G i wREER |

Ques.4 Charu took 2 rounds of a rectangular park 120 m long and 40 m broad. Find the
distance covered by charu in all?

<% Teh SRR UTeh oh &1 Teh ofIal & TSTEeh! oTHITe R0 HIgY, 31 ¥o
Hiex St TSI & Sarst =16 = et et g3 a7 i ?

120 m
40 m
Ques.5 Find the total length of this figure?
-~ - 15 cm
T 3ATHIA Sl FT SIS T DT |
8 cm
Scem
9cm 9cm

5cm

8 cm



Ques.6 Match the following:-

o= =Y |

A

[\

|oo

RECTANGLE

CIRCLE

SQUARE

TRAPEZIUM




Ques.7 Find the area of the figures by counting the squares and write the answers below?

ST ol SIS &1 TS 3TTSHIcT T &It T el |

Ques.8 Colour the squares tiles with blue and triangular tiles with red colour?

SRR T8t Tl A TT & 3R BT SR i 2Eet i ATeT TT 9 7 |

/

Ques.9 There are two playground of Ramu. Ramu has to fences these playgrounds. Help
ramu to find out which playground need more wire to fence and by how much?

Y % U 3 WA & B € 36 3 SH! o IRI O a1 o €, IH ht 788
X 3R Il T T i ¥ B & HEH i SATRT AR AT a1 & fw 3R
Tepart ?

10 em

6 cm

Sem




Ques.10 I have 18 m rope if | had to made a rectangle out of it. Whose length is double of
that its breadth. Find the measurement?

™ Y 8¢ Hie ol Tt € | 59 S99 Teh 3TIdehR ST STeh! oTrlTs
TISTE Tl ST & | ST STATHR T A I 7 |

SO I T

Ques.11 By counting the squares till whose area is bigger?

T Rl FTTeRY SITaTr fohdenT &9%hoT SeT ¢ ?

r.

V

Ques.12 If a piece of paper is divided into 1 cm square then till the total length and total
breadth of the figure?

T TS o TS i 3R ¢ THT, a7 | foreiste fohan & ot SIdey e
g 3R et ATeTS foheT & ?

I cm

I cm




Ques.13 The total length of the given figure is 26 cm. Find the length of A?

ST h ot TS I THY & ‘@’ T HIH 1 1 |

a

8 cm

Ques.14 Find the cost of fencing a square park of side 150 cm at the rate Rs. 6 per metre?
TR UTeh Shi TS QYo TWHT & 3R Ueh HieR ST i ¢ & T & af Quo

T S fepeT Bt ?

Ques.15 If the side of square is 4 cm and we double it then till by how much
perimeter of square change?

TS o ol ST % S € o 3Tk §TH & TR ST IRETT W -7 Heh ST |



Ans.1

Ans.2

Ans.3
Ans.4
Ans.5

AnNs.6

d)
Ans.7
Ans.8

Ans.9

Ans. 10

a)

b)

Ans.11

ANSWERS

19.5cm
Q.4 IHT |

12 Cm

12 3 |

fencing of plot.
JHEUE i TRGER] |
9600 m?

9600 HIeT" |

64 cm

&% T |

Trapezium

Rectangle

Circle

e |

11

R

student do it self.
B & H |

Rectangular Park and by 14 cm
JATIATHR T hl UM 3TN L IH T ST |

Length 12 Cm.

LTS 83 9T |

Breadth 6 Cm.

<SS & o |

2>



Ans.12
a) Length 3Cm.

IS 3 99 |

b) Breadth 6 Cm.
qrere & 9T |
Ans.13 7 Cm.

\© T |

Ans.14 Rs.900.

oo T |
Ans.15 Double

ST &l S |



CHAPTER 14
SMART CHART

Ques.1 Total number of square =

FATMNHIGET ¥

Ques.2 Number of circles =
Mot ges ¢

Ques.3 Sum of triangle and square

M 3R T Y el A |

Ques.4 Number of student liked rice .

Tele] THE i oot foameisnt @@ &

Food Number of Student

T | foenfer @ d@e

Rice 10
BIEK] 10
Chapatti 15
LG 15
Pumpkin 05

e 05

o




Ques.5 Total number of student =

T ferenterat ot e 7|

Ques.6 How many student liked pumpkin =
g THE L ATed ferntert ol e |

Ques.7 Number of students likes. Chapati is more then the students liked rice.
TS @ 9Tt Tormell =reer @ aret fo@medt 9 AIF E |

Ques.8 There are 15 students. 1/3 liked to drink milk. How many students liked milk?

T T H QY et 7, ¢/3 fommeit gy did &, g9 1+ et feremeiia = e
T o |

Ques.9 Most children eat food made from

AFRT™ ST EEAE |
Food | Number pf Student
@ | Tt s g
Rice 10
BIEK] 10
Rig:e 08
ﬁ'(-;; 08
Maise 05
TR 05
Ques.lOo\.Nheat likes  students.
g & = @ e THE A ¢ |

Ques.11 Total number of students =

FATA DG |




16
14
é 12
©
= 10
(@)
s 8 @ Number of students
3 6
IS
2 4
2
0
Cartoon News Sports Music
Programe
Ques.12 Sports liked Children.
e IS L & |
Ques.13 Most of the children liked programme.
AYPR T WUEHIES A |
Ques.14 Children’s takes interest in news.
S AHIEIR A HAK enkd % ‘
Ques.15 Music liked students.

Fia_ g Uge A ¢



11,

12.

13.

14,

15.

Answer

4
¥
7
\9
10
%0
10
20
30
30
50
Lo
5
Y
5
G
Rice.
EICK
8
¢
23
3
8
¢
Cartoon.
FTe |
5
G
6
&



CHAPTER-141H

Ques.1 Teena watches television for 2 hours daily for how many hours she will be
Watching television in a week.

2T ufdfe R = Srodlio @ € SaTd foh 918 Teh 8% | fehe B Sodlo
TGl &7

2x__=

Ques.2 Rahim works fpr 8 hours in a day what part of a day he spends in working? .
@ Ueh {5 § Tohe H T8 T & | 98 Ueh (S o7 {ohaiT 9T hrH i |

IELIGIEY

(1/4, 1/3, %)

Ques.3 1/5" students in a class like cricket there are 40 students in the class. How many
Students don’t like cricket?
T T | /Y BTN ol {ohehe TUT & | HeTT | ¥o B € | Tha- ST ol fohehe

ERCE R

(8, 16, 32, 24)

Study the chart and answer the question that follows.

Scheme of the food item Children who like Children who don’t like
mew HH'CQ i dlc] 94 HH'CQ AT Sh{H dlc] ST
Fruits 24 16
Byl
Vegetable 12 28
gfestat
Junk Food 30 10
ik e ueTd
Sé\:/'v;g 40 o

In the class of 40 students.

Ques.4 how many students like junk food?
rcb('l"l BT STk G tl'QT?j RS KRS %?

Ques5. How many children don’t like vegetables?



fopa BT gfesat ude et FLa?

Ques.6 Which type of food is liked by maximum students?

S 9T T UETY TR BT T4 Hid &7

Ques.7 Which food item is liked by every students in the class.
I T @I USTd el o Gt BT 5T 99g Tohar

Study the pie chart and answer the following questions:-

Students who don’t N Students who knows dancing

Know dancing at all ST ST AT ST 2 |

ST S fooshet

AT A8l ST | Students who knows a little
Dancing.
ST ST Fgd HH AT
ST |

Ques.8 What part of the total number of students knows dancing?
et BHET bl fehamTT ST AT ST &7
(1/2,1/4,3/4)

Ques.9 What part of the total number of students don’t know dancing?
el ST <l TohelT ST AT =T8T STl &7
(1/2,1/4,3/4)

Ques10. if there are 60 students in a class, how many students know a little dancing?
3R T | &o BT & I Tha- ST ATST ATEAT ST &7

Ques.11 Looking at the bar diagram answer the following questions...

fore 3TeaTTeh T Yerd &7



Number of Students
w

2 i
1
0
Maths Hindi English S.S.T Science
Teacher's

How many teachers are teaching math’s?

Ques.12 which subjects is being taught by maximum number of teachers?

SHI-91 TS TR STeATIh! §RT USRI ST @7 27

Ques.13 what is the tptal number of teachers.
et STEATIHT Shi T FATT |
Ques.14 If two science teachers will go on leave next week, how many teachers will

Be left to teach science? '
3R Ta3T & 3 37U Tt W Tl ST, A {57 & o (oha STeATIeh o

AT ?

Ques.15 what is the total numbers of teachers who are teaching languages (Hindi &
English )?

el fehe 37T ST o v € (et 37 3iTisT)




ANSWER KEY

1. 2x7=14
RX\9=1R¥%

2. 8/24=1/3
¢/ = Y3

3. 1/5x40=8, 40-8=132
/4 X Yo =¢, ¥o - ¢ =3

4, 30
30

10. 15

11.6
&

12. Hindi.

fe=<lt

13.30
30

14.6
]

15. 14
¥



